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Part A

Section Id : 686340383
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340638
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Question Id : 68634019342 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634019343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076401. 1
68634076402. 2
68634076403. 3
68634076404. 4

Question Number : 2 Question Id : 68634019344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076405. 1
68634076406. 2
68634076407. 3
68634076408. 4

Question Number : 3 Question Id : 68634019345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076409. 1
68634076410. 2
68634076411. 3
68634076412. 4

Question Number : 4 Question Id : 68634019346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076413. 1
68634076414. 2
68634076415. 3
68634076416. 4

Question Number : 5 Question Id : 68634019347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634076417. 1
68634076418. 2
68634076419. 3
68634076420. 4



Question Id : 68634019342 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634019343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076401. 1

68634076402. 2

68634076403. 3
68634076404. 4

Question Number : 2 Question Id : 68634019344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076405. 1
68634076406. 2
68634076407. 3
68634076408. 4

Question Number : 3 Question Id : 68634019345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076409. 1
68634076410. 2
68634076411. 3
68634076412. 4
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Question Number : 4 Question Id : 68634019346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076413. 1
68634076414. 2
68634076415. 3
68634076416. 4

Question Number : 5 Question Id : 68634019347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076417. 1
68634076418. 2
68634076419. 3
68634076420. 4
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Sub-Section Number : 2
Sub-Section Id : 686340639
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076421. 1

68634076422.2

68634076423. 3
68634076424. 4

Question Number : 6 Question Id : 68634019348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 7 Question Id : 68634019349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076425. 1
68634076426. 2
68634076427. 3
68634076428. 4

Question Number : 7 Question Id : 68634019349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076425. 1
68634076426. 2
68634076427. 3
68634076428. 4

Question Number : 8 Question Id : 68634019350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076429. 1
68634076430. 2
68634076431. 3
68634076432. 4

Question Number : 8 Question Id : 68634019350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634076429. 1
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Question Number : 9 Question Id : 68634019351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076433. 1
68634076434. 2
68634076435. 3
68634076436. 4

Question Number : 9 Question Id : 68634019351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076433. 1
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68634076435. 3
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Question Number : 10 Question Id : 68634019352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076437. 1
68634076438. 2
68634076439. 3
68634076440. 4

Question Number : 10 Question Id : 68634019352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076437. 1
68634076438. 2
68634076439. 3
68634076440. 4

Question Number : 11 Question Id : 68634019353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634019353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634076441. 1
68634076442 2
68634076443. 3
68634076444. 4

Question Number : 12 Question Id : 68634019354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634019355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076449. 1
68634076450. 2
68634076451. 3
68634076452. 4

Question Number : 13 Question Id : 68634019355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076453. 1
68634076454. 2
68634076455 3
68634076456. 4

Question Number : 14 Question Id : 68634019356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634076464. 4

Question Number : 16 Question Id : 68634019358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634076462. 2
68634076463. 3
68634076464. 4

Question Number : 17 Question Id : 68634019359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634019362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fofa ifTE fas @1 it foban gy adbgul € 9 faaR o3 WR 31l S

Py :

O B XYZ ST F SuHl A3 UIiNd PR &1 g1 \icil, BR-[qde Pl =1 &l daRl d g3
SoiErsdt = WRE IR B wes Rerd B SR g1 &1 90 g1 &) A S|

EAUGI IR
(i) PR-TGRS DI URI 118 I Tgo g1 & U gfdh71 Tl 1 St iR B - el &1 ¥ sgHl =feu|
(i) PR [ddP I BRI P 3H-a154 b1 YT B! =i
1. g (i) BT
2.%ad (i) BT
3.9 (@) SR AE i) T
4. S, (1) 3R (i) B
Options :
68634076477. 1
68634076478. 2

68634076479. 3
68634076480. 4

Question Number : 20 Question Id : 68634019362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% dadad & |15 o fopar 9y {30 70 8| |10 o aaden o forar 71 81 Wieg 9 B | 950 & HYR IR
fofa ifTE fas @1 it foban gy adbgul € 9 faaR o3 WR 31l S

Py :

O B XYZ ST F SuHl A3 UIiNd PR &1 g1 \icil, BR-[qde Pl =1 &l daRl d g3
SoiErsdt = WRE IR B wes Rerd B SR g1 &1 90 g1 &) A S|

priaTE! Wfsha -
(i) PR-TGRS DI URI 118 I Tgo g1 & U gfdh71 Tl 1 St iR B - el &1 ¥ sgHl =feu|
(i) PR [ddP I BRI P 3H-a154 b1 YT B! =i

1. 9ad (i) §FT

2.%ad (i) BT

3.9 (@) SR AE i) T

4. S, (1) 3R (i) B

Options :

68634076477. 1
68634076478. 2
68634076479. 3
68634076480. 4

Question Number : 21 Question Id : 68634019363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m ¥ = G a1t 5 AT YIS GUITehT T 371 n €1 (m+2) I Y& GH aTel 6 SHANTA YD Quifep
&1 A Hd 1 A

1. 20+5)2

2.nt2
3.nt3
4. (2n+9)/2

Options :

68634076481. 1
68634076482. 2
68634076483. 3
68634076484. 4

Question Number : 21 Question Id : 68634019363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

m ¥ = 8 a4 5 HHATG YIS qUITd! & S n 8| (m+2) ¥ L3 8F ard 6 HHAFT SIS Ul
1 S{Td 1 g2

1. (2nt5)/2

| o]

.n+2
3.n+3
4. (2n+9)/2

Options :

68634076481. 1
68634076482. 2
68634076483. 3
68634076484. 4

Question Number : 22 Question Id : 68634019364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' ¥Ie3 & 34eRf ¥ UF fosa Weg 110 O Gabd & forH wR eoe faus =i iR 81 382

L.

n

76

| )

. 578
3. 580
4.678

Options :

68634076485.
68634076486.
68634076487.
68634076488.

W N =

Question Number : 22 Question Id : 68634019364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' ¥Ieg & 3&RT T TH fdsd Weg &0 ofl Tobd & forH R sou faud @i 0 81 38?2

1.

n

76

| ]
L
|
(=]



Options :

68634076485. 1
68634076486. 2
68634076487. 3
68634076488. 4

Question Number : 23 Question Id : 68634019365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 7 3N ¥ 50,000 U4 25 U 2022 Bl 12% P g, TR AT IR YR o] 18 RamER 2022
DI TG - YT FUR Jb1aT| AT gRT fam a1 sars o1 grme

1.22.200

| B8]
AH
|
;AJ
Lhn
[

3.32,400

ol
A4
b
n
n
=

Options :

68634076489. 1
68634076490. 2
68634076491. 3
68634076492. 4

Question Number : 23 Question Id : 68634019365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A 3N T 50,000 UL 25 3T 2022 Bl 12% b dlitiep, FTERUI 4TS U SUR e 18 ¥R 2022
DI AT = U YR BT A gRT {331 71 =1 o1 g

1.22,200

| B
A
| ]
FAJ
Lhn
o

3.22400

i
AH
[ )
n
n
=

Options :

68634076489. 1
68634076490. 2
68634076491. 3
68634076492. 4

Question Number : 24 Question Id : 68634019366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1= f3u U fawedl & 9 Tel 9Tk &1 98 S
T8 B 5 o)
2.A.D,B.C
3.B,D,A.C
4.C,B.D.A

Options :

68634076493. 1
68634076494. 2
68634076495. 3
68634076496. 4

Question Number : 24 Question Id : 68634019366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s, | G

AR Twarell &l ued H | @

=
A
B.2
.
D.

i f¢u U [d@edl § O Il 3R & 994 Bioig:

1.D.A,B.C.
2.A.D.B.C
§HDAC
4.C,B.D,A

Options :

68634076493. 1

68634076494 2

68634076495. 3
68634076496. 4



Question Number : 25 Question Id : 68634019367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 OTAT & STy & a1 ST 3:4:5 51 3 91 gy SR U & I § 1R § o & erurd
UL 4:1, 3:1 IR 5:2 BT 5| S Il GrEl & (Y01 &I U 91Y UH H S19 401 §rdl o | 914 U § g9 3R
O & S &1 Sd7d & -

1.4:1

| B

. 151:48

3.

—
[ ]
-1
[ ]
[ 5]

4.

ey
(]

Options :

68634076497.
68634076498.
68634076499.
68634076500.

AW N~

Question Number : 25 Question Id : 68634019367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o T & SHTaaH! & & BT S0 3:4:5 51 3 9 g ofR Ul & By 9 1R § oFe &9 orgua
DU 4:1, 3:1 3R 5:2 DI g1 S a1 UE & HYUI 6] U 91Y U H ST fear orar 3 | 91d 9 8§ g9 3R
Ot & dig FT 39Td 8Nl -

1.4:1

| o]

.151:48

3

[
[ 1
-1
L]
[#5]

4.

iy
(]

Options :

68634076497. 1
68634076498. 2
68634076499. 3
68634076500. 4

Part B: Pharmacy

Section Id : 686340384
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75



Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340640
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements.

A. Prazosin 1s selective ol-adrenergic antagomnist.

B. Methyldopa is centrally acting adrenergic drugs.

C. Sodium nitroprusside 1s long acting antihypertensive drug.
D. Sildenatfil is potent inhibitor of PDES

Choose the most appropriate answer from the options given below :

1. A and B Only

| )

. A, B and D Only
3.B. Cand D Only

4. A. B and C Only

Options :

68634076501. 1
68634076502. 2
68634076503. 3
68634076504. 4

Question Number : 26 Question Id : 68634019368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el U B ggdH B

A. YIS 99fAd o-TsHNE T gl

B. BUETS] H510 HaS! UgH e g1

C. Qifsg AEciyHEs driaft J=radard A wfe g
D. 1% d PDES &t TUTe SIaRIuU® ¢l

- feu Y fament | ¥ el IR &1 994 i
1. %0 A 3R B
2. %dd A, B3R D
3.%ddB.C3ARD
4. PAA A, B3R C

Options :

68634076501. 1
68634076502. 2
68634076503. 3
68634076504. 4

Question Number : 27 Question Id : 68634019369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct statements.

A. In EDTA titration metal 1on sensitive Indicator 1s employed.

B. An effective masking agent is cyanide 1on forms stable complex with cations of Zn. Cu. Co. Ag.
C. Purpuric acid ammonium salt is an example of metal ion indicator.

D. Calcium is determmed in presence of Magnesium.

E. Hardness of water 1s due to undissolved calcium and magnesium salt.

Choose the correct answer from the options given below :

1. A and B Only

| B}

.A. B, C Only
3.A.B.C.DOnly
4. E Only

Options :

68634076505. 1
68634076506. 2
68634076507. 3
68634076508. 4

Question Number : 27 Question Id : 68634019369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A. EDTA CIS¢RFaAISE | 314 Hdd] Yaoid WIdd oidl ¢ |

B. WG5S S0 TS WHIE! ARG Uuic 8, 91 Zn, Cu. Co. Ag & HIH & Iy RR Afca s g
C. YRS S HHIFTH A6 UTq 1A AP D1 3160 8

D. g, S-iRems o gufufa § fPRufor giar g

E. 5T @1 S0 el TR Biexrad iR Jifkrag aau & SR g g

e fSu U [d@edl § I Tel 3= &1 99 Bl
1. ®ad A 3R B
2. HaU A, B, C
3. %4 A, B,C.D
4. PIUE

Options :

68634076505. 1
68634076506. 2
68634076507. 3
68634076508. 4

Question Number : 28 Question Id : 68634019370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following carbonyl compounds absorb IR radiations in the decreasing order.

& 0
H,C CH,
B. O
H,C H
C. 0
H,C OC,H
| j}k
H,C CH=CH,

Choose the correct answer from the options given below :
1. A>B>C>D
2. D>B=>A>C
3. C=B=A=D

4. D=A=B>C

Options :

68634076509. 1
68634076510. 2
68634076511. 3
68634076512. 4

Question Number : 28 Question Id : 68634019370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaftfEs =eife of® =0 &9 # IR a1 amenfs =9 2

o 0
HC CH,
B O
H,C H
c 0O
H,C OC,H,
D )
H,C CH=CH,

i feu 0 [deedl § ¥ gl 3N &1 994 I

1. A>B>C>D

[

. D=B=A>C
3. C=B=A=D

4. D=A>=B=C

Options :

68634076509. 1
68634076510. 2
68634076511. 3
68634076512. 4

Question Number : 29 Question Id : 68634019371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct statement regarding titrimetric analysis.

1. Sulfonamide antibiotics cannot be analyzed by diazotization titration.

| ]

. Ton-pair titration involves a colored indicator complex in assay of dicyclomine elixir.
3. The Karl Fischer reagent includes 1odine, methanol and sulfuric acid.

4. Primary standards are unstable chemical compound.

Options :

68634076513. 1
68634076514. 2
68634076515. 3
68634076516. 4

Question Number : 29 Question Id : 68634019371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cTaicifed [qRay & oy & H5l By &1 UgdH Bifolu:

. STATSICYE e15c¥H gRT 5B HHEES Ueiariicas oI [qReyu] 78] [l ol 9ol g |
. 3T SIS C5 ¢ SIgaaHIZ giclidR & HEEH 4 Ui g9 dicd Sad sidl ol
3. ®Id (PR Role § srieq, Burdq iR SergRe thrs afffad giar gl

4. WP gHEs SR IWAHS Al gid 5|

Options :

68634076513. 1
68634076514. 2
68634076515. 3
68634076516. 4

—

| ]

Question Number : 30 Question Id : 68634019372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many chiral carbon atoms are there in the penicillin. molecule ?
1. two
2. three
3. four
4. five
Options :

68634076517. 1
68634076518. 2



68634076519. 3
68634076520. 4

Question Number : 30 Question Id : 68634019372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORI S0 fha Pexd H1a- WA Bl &
1

al
A=

[ ]

3.4

4.9

Options :

68634076517. 1
68634076518. 2
68634076519. 3
68634076520. 4

Question Number : 31 Question Id : 68634019373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Molecular docking is an example of
1. Ligand based drug design
2. COMFA
3. COMSIA

4, Structure based drug design

Options :

68634076521. 1
68634076522. 2
68634076523. 3
68634076524. 4

Question Number : 31 Question Id : 68634019373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hifefage Sifd CARCEAMUR]
1. Tiele TR 3wy sififa=arg

. DIHT

3. DI

4. T SR vy iy

Options :

68634076521. 1
68634076522. 2
68634076523. 3
68634076524. 4

| ]

Question Number : 32 Question Id : 68634019374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nomenclature of heterocyclic compounds is governed by

1. CIP rules

b

. Fischer Rules

L]

. Blanc's rule

4, Hantzsch - Widman rule

Options :

68634076525. 1
68634076526. 2
68634076527. 3
68634076528. 4

Question Number : 32 Question Id : 68634019374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fayE=y =Ieh g GIfeh! 1 AHHR fbdeb gIRT =M BIAT 6 -
3t g Ui Ay

ftpRR o

3. & fgm

4. §eu- fas o9 fam

Options :
68634076525. 1
68634076526. 2

fu—y

[ ]



68634076527. 3
68634076528. 4

Question Number : 33 Question Id : 68634019375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in their decreasing order of pKa.

A HF
B. HCI
C. HBr
D. HI

Choose the correct answer from the options given below :

1. A=B>C=D

|

. AFB=D=C
3.B=A=C>D

4. C=A=B=D

Options :

68634076529. 1
68634076530. 2
68634076531. 3
68634076532. 4

Question Number : 33 Question Id : 68634019375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT &1 pKa & Yed HH H ooafyd S :

A.HF
B. HCl
C. HBr
D. HI

- feu T fawent | ¥ Wel ST &1 994 i

1. A=B=C=D

|

. A=B=D=C
3. B=A>C>D

4. C>A>B>D

Options :

68634076529. 1
68634076530. 2
68634076531. 3



68634076532. 4

Question Number : 34 Question Id : 68634019376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s not a reaction intermediate ?

1. Carbocation

| ]

. Carbanion
3. Nitrene
4. Epoxides

Options :

68634076533. 1
68634076534. 2
68634076535. 3
68634076536. 4

Question Number : 34 Question Id : 68634019376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa & ¥ o= 1 sififrar oy T &
1. BIEIHTA

%

3. gfe®

4. gHIEES
Options :
68634076533. 1
68634076534. 2
68634076535. 3
68634076536. 4

Question Number : 35 Question Id : 68634019377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct representation.

OH
L OH
H
s OH
H
OH
i OH
H
OH
s H
x OH
Ol
3. H
H
4 H H
5
H

Options :

68634076537. 1
68634076538. 2
68634076539. 3
68634076540. 4

Question Number : 35 Question Id : 68634019377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g Freun 2 ugEe i

OH
! OH
H
% OH
H
OH
2. OH
H
OH
" H
= OH
OH
3. H
H
4. H
H
Options :

68634076537. 1
68634076538. 2
68634076539. 3
68634076540. 4

Question Number : 36 Question Id : 68634019378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The configuration at 1 and 2 is

1. 1R, 2R

4

3.18,25

AR, 28

4. 15, 2R

Options :

68634076541. 1
68634076542 2
68634076543. 3
68634076544. 4

Question Number : 36 Question Id : 68634019378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3R 2 Rigag e

1. TREZR.

4

3.15. 28

AR, 28

4. 18. 2R

Options :

68634076541. 1
68634076542. 2
68634076543. 3
68634076544. 4

Question Number : 37 Question Id : 68634019379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is type of Electrophilic aromatic substitution ?

1. Benzyne mechanism

| B

. nitration of chlorobenzene
3. nitration of benzene

4. bromination of cyclohexene

Options :

68634076545. 1
68634076546. 2
68634076547. 3
68634076548. 4

Question Number : 37 Question Id : 68634019379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FFafafad o0 9 o 91 gawiihiiae WHiee UiiwiH &1 UeR 82
1. il gomedi

2. TR BT ATg¢RH

.ol DI AI5CTH

4. FTgailga DI sifHAT B

Options :

68634076545. 1
68634076546. 2
68634076547. 3
68634076548. 4

- |

Lad

Question Number : 38 Question Id : 68634019380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :
Statement I : In diazotization titration. acidified sodium nitrite 1s used.

Statement II : In diazotization titration, nitrous acid converts primary aromatic amine into a diazonium salt.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

-J

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

68634076549. 1
68634076550. 2
68634076551. 3
68634076552. 4

Question Number : 38 Question Id : 68634019380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 < Py Ry e &
HYT [ SHEICISYNH elgeyH § P d HIfSgH Algee Wgad sial o
FYF II- SHEICSYYA elBeyH H Aged Wuftie Wafcs wHE- &1 SMmi—ed a9 | giafda
ERGI
SWRIGd Y- & 3fTelle H, 1< 3u MU faw el & 4 ged Iuged IR &l 98- ST
1. BUF 1 3R HYF 11 1 Te §
PYF T AR YA 11 G TTad §
3. PUA IR . Ao HYA 11 7Ted §

4. BYT 1 TTAd 5, A HYT 1 el &

Options :

68634076549. 1
68634076550. 2
68634076551. 3
68634076552. 4

| ]

Question Number : 39 Question Id : 68634019381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :
Statement I : Potentiometric titration provides the principal method for pKa values determination.

Statement II : The electrode whose potential depends on the concertation of the ion to be determined is called
Indicator Electrode.

In the light of the above statements. choose the meost appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

-

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634076553. 1
68634076554. 2
68634076555. 3
68634076556. 4

Question Number : 39 Question Id : 68634019381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=it 3 By U MU E:
YT - Ui RUAeH TgeTH pka A ey & fog wue By iem sxar gl

mﬁu_%gﬁa@ta'mﬁﬁlmﬂﬁaﬁﬁﬁﬁaﬁaﬁ ST & g0 IR FR Il . g saals
PEAT |

SURIE BY & 3Telies 0, i U 10 fadbedl ¥ ¥ 99 Iuged IR 1 99 DIfIe:
1. BYT1 AR FYT 1 S et §

YA 1 3R HYF 11 G1H1 Ted ©

3. BYF 1 9! 5. ol HUH 11 7T07d ©

4. HYF 17Td &, Al HUH 11 Tel &

Options :

68634076553. 1
68634076554. 2
68634076555. 3
68634076556. 4
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Question Number : 40 Question Id : 68634019382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the most commonly used method in gravimetric analysis.

1. Volatilization

| ]

. Electroanalytical
3. Extraction and chromatographic

4. Precipitation method

Options :

68634076557. 1
68634076558. 2
68634076559. 3
68634076560. 4

Question Number : 40 Question Id : 68634019382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076557. 1
68634076558. 2
68634076559. 3
68634076560. 4

[ ]

e

Question Number : 41 Question Id : 68634019383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect about conductimetry ?

1. The reciprocal of resistance is termed the conductance

-2

. For strong electrolytes the molar conductivity increases as the dilution is increased
3. For weak electrolytes. degree of ionization increases with dilution.
4. Titration of cyclohexene with bromine is an example of conductometric titration.
Options :

68634076561. 1
68634076562. 2



68634076563. 3
68634076564. 4

Question Number : 41 Question Id : 68634019383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076561. 1
68634076562. 2
68634076563. 3
68634076564. 4

Question Number : 42 Question Id : 68634019384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diazepam is first metabolized by

Me 0
g |
N~
8 .
L]
- N
81 ) = 4

1. 7-dechlorination

| ]

. 3-Hydroxylation

3. Ketone reduction at C—2 position

4. N! demethylation

Options :

68634076565. 1
68634076566. 2
68634076567. 3
68634076568. 4



Question Number : 42 Question Id : 68634019384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEUTH s gRI HYH HeriftRes o 81 -

| ]
L 5]
%

3. -2 Y R Ble il
4. N! fafHurgdie

Options :

68634076565. 1
68634076566. 2
68634076567. 3
68634076568. 4

Question Number : 43 Question Id : 68634019385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While discussing SAR of Acetylcholine with reference to alkyl substitutions on the p-carbon. which statement
is incorrect ?

1. Rate of hydrolysis by estruses decreases
2. Nicotinic action decreases
3. Muscarinic action increases

4. Nicotinic action increases

Options :

68634076569. 1
68634076570. 2
68634076571. 3
68634076572. 4

Question Number : 43 Question Id : 68634019385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634076569. 1
68634076570. 2
68634076571. 3
68634076572. 4

Question Number : 44 Question Id : 68634019386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the relation between dopamine. epinephrine and nor - epinephrine ?

1. They contain secondary amine groups

[ ]

. They possess three hydroxyl groups

Lad

. They are chemically catacholamines

4. They possess chiral carbon atom

Options :

68634076573. 1
68634076574. 2
68634076575. 3
68634076576. 4

Question Number : 44 Question Id : 68634019386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076573. 1
68634076574. 2
68634076575. 3
68634076576. 4

Question Number : 45 Question Id : 68634019387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Melphalan belongs to the following class of antineoplastic agents.

1. Antimetabolites

| ]

. Alkylating agent
3. Antibiotics

4. Protein kinase Inhibitors

Options :

68634076577. 1
68634076578. 2
68634076579. 3
68634076580. 4

Question Number : 45 Question Id : 68634019387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076577. 1
68634076578. 2
68634076579. 3
68634076580. 4

Question Number : 46 Question Id : 68634019388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : Dexamethasone is five fold active than Prednisolone for anti - inflammatory action.
Reason R : Dexamethasone is the florinated derivative of prednisolone.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 15 correct

Options :

68634076581. 1
68634076582. 2
68634076583. 3
68634076584. 4

Question Number : 46 Question Id : 68634019388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076581. 1
68634076582. 2
68634076583. 3
68634076584. 4
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Question Number : 47 Question Id : 68634019389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Delayed - Type Hypersensitivity 1s usually an effective control of Intracellular namely
1. lactobacillus leichmannii
2. mycobacterium tuberculosis
3. Pseudomonas aeruginosa
4. Herpes Simplex

Options :

68634076585. 1
68634076586. 2
68634076587. 3
68634076588. 4

Question Number : 47 Question Id : 68634019389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076585. 1
68634076586. 2
68634076587. 3
68634076588. 4

| ]

Lad

Question Number : 48 Question Id : 68634019390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The part of prescription called subscription contain

1. Instructions to the patient

| ]

. Instructions to the pharmacist
3. Instructions to the patient relatives

4. Instructions to nurse

Options :
68634076589. 1
68634076590. 2



68634076591. 3
68634076592. 4

Question Number : 48 Question Id : 68634019390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076589. 1

68634076590. 2

68634076591. 3
68634076592. 4

-
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Question Number : 49 Question Id : 68634019391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : The surface tension of a liquid 1s the combined strength of the polar of dispersion forces that are
pulling on the molecules in the surface of the liquid.

Reason R : The addition of small quantities ion of umpurities will alter the surface tension.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct

4. A is not correct but R is correct

Options :

68634076593. 1
68634076594. 2
68634076595. 3
68634076596. 4

Question Number : 49 Question Id : 68634019391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076593. 1
68634076594. 2
68634076595. 3
68634076596. 4

| ]

Question Number : 50 Question Id : 68634019392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ostwald ripening is related to
1. Syrup
2. Emulsion
3. Suspensions
4. Elixirs

Options :

68634076597. 1
68634076598. 2
68634076599. 3
68634076600. 4

Question Number : 50 Question Id : 68634019392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634076597. 1
68634076598. 2

68634076599. 3
68634076600. 4

| S

Question Number : 51 Question Id : 68634019393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

B. Pumilus is used as Biological indicator in

1. Moist Heat sterilization

| ]

. Dry Heat sterilization

L]

. Ethylene Oxide sterilization

4. Radiation sterilization

Options :

68634076601. 1
68634076602. 2
68634076603. 3
68634076604. 4

Question Number : 51 Question Id : 68634019393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634076601. 1
68634076602. 2

Lad



68634076603. 3
68634076604. 4

Question Number : 52 Question Id : 68634019394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Elementary osmotic pump delivery systems are used for drugs.

1. Zero order release

| ]

. First order release
3. Second order release

4. Mixed order release

Options :

68634076605. 1
68634076606. 2
68634076607. 3
68634076608. 4

Question Number : 52 Question Id : 68634019394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634076605. 1
68634076606. 2

68634076607. 3
68634076608. 4
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Question Number : 53 Question Id : 68634019395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Glyceryl monostearate is used as

1. Thickening agent in ointments

| ]

. Emollient
3. Preservative
4. Suspending agent

Options :

68634076609. 1
68634076610. 2
68634076611. 3
68634076612. 4

Question Number : 53 Question Id : 68634019395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076609. 1
68634076610. 2
68634076611. 3
68634076612. 4

Question Number : 54 Question Id : 68634019396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which size of particles gives better bioavailability of digoxin

1. 20-23 Um (micro meter)

[ E]

. 10-20 Hm
3. 3-4 jm
4. 6-10 pim
Options :

68634076613. 1
68634076614. 2



68634076615. 3
68634076616. 4

Question Number : 54 Question Id : 68634019396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g UHR & U1 SEGTT B §8d¥ old SUad UeH PR & ;
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. 10-20 fim

[ ]

3.34 uym

4. 6-10 fm

Options :

68634076613. 1
68634076614. 2
68634076615. 3
68634076616. 4

Question Number : 55 Question Id : 68634019397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Membrane filters are not manufactured from which of following polymers
1. Cellulose esters

2. Starch derivatives

L]

. Polyvinylidene fluoride
4, Polytetrafluorocthylene

Options :

68634076617. 1
68634076618. 2
68634076619. 3
68634076620. 4

Question Number : 55 Question Id : 68634019397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076617. 1
68634076618. 2
68634076619. 3
68634076620. 4

—
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Question Number : 56 Question Id : 68634019398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a incorrect statement

1. Controlled release drug delivery systems usually release drugs within maximum concentration and
minimum effective concentration in plasma concentration Vs Time graph

el

2. Sustained release dosage forms release drugs for prolonged period of time.
3. Drugs having half life of more than 10 hours are good candidate for sustained release formulations.

4. Controlled release formulations control the release of drugs spatially and temporally.

Options :

68634076621. 1
68634076622. 2
68634076623. 3
68634076624. 4

Question Number : 56 Question Id : 68634019398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076621. 1
68634076622. 2
68634076623. 3
68634076624. 4

Question Number : 57 Question Id : 68634019399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following emulisifying agents is of natural origin.

1. Sodium lauryl sulphate

| ]

. Cetrimide
3. Bentonite
4. Span 80
Options :
68634076625. 1
68634076626. 2

68634076627. 3
68634076628. 4

Question Number : 57 Question Id : 68634019399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634076625. 1
68634076626. 2
68634076627. 3
68634076628. 4

Question Number : 58 Question Id : 68634019400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following equation 1s used to calculate rate of decomposition of drugs at accelerated temperature
conditions

1. Stoke's equation.

| ]

. Michaelis - Menten equation.
3. Arrhenius equation

4. Young equation.

Options :

68634076629. 1
68634076630. 2
68634076631. 3
68634076632. 4

Question Number : 58 Question Id : 68634019400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634076629. 1
68634076630. 2

68634076631. 3
68634076632. 4

| ]

Question Number : 59 Question Id : 68634019401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tween 60 1s chemically known as :

1. Polyoxymethylene 80 Sorbitan monolaurate

[ ]

. Polyoxymethylene 60 Sorbitan monopalmitate
3. Polyoxymethylene 20 Sorbitan monopalmaitate

4. Sorbitan monostearate

Options :
68634076633. 1
68634076634. 2



68634076635. 3
68634076636. 4

Question Number : 59 Question Id : 68634019401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 60 &1 IS A9 ©:
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Options :

68634076633. 1
68634076634. 2
68634076635. 3
68634076636. 4

[ ]

Lad

Question Number : 60 Question Id : 68634019402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 g equivalent weight 1s equal to

1. 154.32 grans

| ]

. 1.543 grains
3. 1534.2 gramns
4. 15.432 grains

Options :

68634076637. 1
68634076638. 2
68634076639. 3
68634076640. 4

Question Number : 60 Question Id : 68634019402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 919 4R HAJ ©:
1.154.32 949

15433

3.1534294

| ]

4.15.432U49

Options :

68634076637. 1
68634076638. 2
68634076639. 3
68634076640. 4

Question Number : 61 Question Id : 68634019403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Does dependent pharmacokinetic parameters follow which of the following kinetics

1. Zero order kineties

b

. First order kinetics
3. Non-linear pharmacokinetics

4. Linear pharmacokinetics

Options :

68634076641. 1
68634076642. 2
68634076643. 3
68634076644. 4

Question Number : 61 Question Id : 68634019403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634076641. 1
68634076642. 2




68634076643. 3
68634076644. 4

Question Number : 62 Question Id : 68634019404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most widely used cell lines for measuring intestinal absorption/Permeation at in vitro level 1s :

1. U-B7

| ]

. CaCO-2
3. MCF-7

4 MDA-MB-231

Options :

68634076645. 1
68634076646. 2
68634076647. 3
68634076648. 4

Question Number : 62 Question Id : 68634019404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHde] TR UR 31 AN/ GRIAGH &1 H19- ®<- & (A0 i WaiT 1 o arelt SRl 1@ 82

1. U-B7

| ]

. CaCO-2
3. MCF-7

4. MDA-MB-231

Options :

68634076645. 1
68634076646. 2
68634076647. 3
68634076648. 4

Question Number : 63 Question Id : 68634019405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII

: s Partitioning and accumulation of
A [Passive Diffusion| L i i
the drug in the tissue.

Carrier mediate membrane

B. |Perfusion Process| II. [transfer process with energy
(ATP)

Blood flow 1s the rate limiting
step in distribution of drag
Molecules movement from high
concertation to low

concentration without energy
(ATP).

C. JActive Transport | IIL

D. [Drug Affinity | IV

Choose the correct answer from the options given below:

1. A-IV. B-I. C-II. D-III

|

AL B-LL C-IV, D-II
3. A-VI, B-III. C-II. D-I

4. A-I1. B-1. C-IV, D-1III

Options :

68634076649. 1
68634076650. 2
68634076651. 3
68634076652. 4

Question Number : 63 Question Id : 68634019405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 gl 11 ¥ e Sifere

T I T I
[FepT oo vRuT| 1 [Gd® § Si9Y @1 [GHTe AR ¥9g
STra 11 [aTe] Ay O URds Uikl $ell (T 9y
giehd Uliae- 111. Rad UdTg. A9y [gavur H TiHden U el ol
_|oiey wEEya V. [feF1 Fol (UeTdh) & 3 Wigul § Y 9igu &1 3R

fafiiad famedl § O I8t SR &1 904 Sifor -

1. A-IV. B-1. C-II. D-III

g0 w|e

| ]

AL B-LL C-IV, D-II
3. A-VI, B-IIL. C-II. D-I

4. A-IL. B-I. C-IV, D-III

Options :
68634076649. 1



68634076650. 2
68634076651. 3
68634076652. 4

Question Number : 64 Question Id : 68634019406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correlate between powder flowability with Hausner ratio.

Match List I with List IT

LISTI LISTII
Hausner ratio Tyvpe of flow
100-111 I |Four

1.12 -1 38 II. |Poor
1.19-1.25 II. [Excellent
135-145 IV. |Good

o[ ofw[>

Choose the correct answer from the options given below:

1. A-1. B-1I. C-IV. D-III

| ]

CA-IV. B-IILL C-I1. D-I
3. A-IL B-II1, C-1. D-IV

4, A-IIL B-IV. C-I. D-II

Options :

68634076653. 1
68634076654. 2
68634076655. 3
68634076656. 4

Question Number : 64 Question Id : 68634019406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 11 gl 1 ¥ e ifore
BIFER SUId ¥ Ui yalfedl &l Hg-Hey B
g1 =

TR TITE BT ISR
J1o0-1.11 1. [&l®

112-1.18 II. [feld

1.19-125 I [ 3PP
135-145 V. [Sf=31

fafiaiad fdsedi ¥ 9 I8! 3R &1 98- Sifou ;

1. A-1. B-1I. C-IV. D-III

PIRCIE

2. A-IV, B-1II. C-II. D-I
3. A-IL B-I11, C-1. D-IV
4. A-III. B-IV. C-1. D-1I

Options :

68634076653. 1
68634076654. 2
68634076655. 3
68634076656. 4

Question Number : 65 Question Id : 68634019407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The satisfaction of customers needs / demands is one of the core concepts of market. Arrange the marketing's
scoops based on importance and needs.

A. Satisfying

B. Retaining

C. Increasing customers equity
D. Building relationship.

Choose the correct answer from the options given below :

1. A=B=C=D

| B

.D>B>C>A
3.B>C>A>D

4. B>D>A>C

Options :

68634076657. 1
68634076658. 2
68634076659. 3



68634076660. 4

Question Number : 65 Question Id : 68634019407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qED! P SAGHAIST / [T BT P TR &1 ga Goed-rsit § T Ue 8| 7 3R awadmarsi &
YR TR fGUUH YT 1 oFafud o1 |

A. g

B. §EYH I

C. gedl ST / UT8D Jrgdl
D. Fay fAaior

=i fau g fawent | ¥ el SR &1 99 B .

1. A>B>C>D

| ]

D=B=C=A
3.B=C>=A>D

4.B>D>A>C

Options :

68634076657. 1
68634076658. 2
68634076659. 3
68634076660. 4

Question Number : 66 Question Id : 68634019408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Substances used in preparation of mixtures which do not readily dissolve unless finely powered before
aqueous vehicle is added.

A. Alum

B. Boric acid

C. Ferrous Salphate
D. citric acid

E. calcium Lactate

Choose the correct answer from the options given below :

1. BHCAIDHE

| ]

AFTBHCHD
3. ATBHCHE

4. B+C+D+E

Options :



68634076661. 1
68634076662. 2
68634076663. 3
68634076664. 4

Question Number : 66 Question Id : 68634019408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 vard o 2R ol 3 Fiafor & ygod 913 8, off ki R fer Ssrar @ e 71 €, & orcaar @ gof

STH T SISOl & -

A. UcH

B. §I¥® 3T
C. B3y Jethe
D. HIsi¢d 3k
E. Bfe’gd ddce

- fau Y fawent | ¥ el SR &1 99 B -

1. B+C+D+E

| ]

. ATB+C+D
3. A+B+C+E

4. B+C+D+E

Options :

68634076661. 1
68634076662. 2
68634076663. 3
68634076664. 4

Question Number : 67 Question Id : 68634019409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the exact temperature maintained for dissolution testing as per Indian pharmacopoeia ?

1.25+2 C

3TE2°C

[ S

3 37

4.37+05°C

Options :

68634076665. 1
68634076666. 2
68634076667. 3
68634076668. 4



Question Number : 67 Question Id : 68634019409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRUTG Y96l AFGS] & SHR faged dRIf07 & iU 9918 I@T S aTel 92i@ argdT= & 57

b

4,37+05°C

Options :

68634076665. 1
68634076666. 2
68634076667. 3
68634076668. 4

Question Number : 68 Question Id : 68634019410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Micro organism used for microbial assay of vitamin B,

1. Lactobacillus leichmannii

[ ]

. Lactobacillus acidophilus
3. Lactobacillus plantarum

4. Lactobacillus fermentii

Options :

68634076669. 1
68634076670. 2
68634076671. 3
68634076672. 4

Question Number : 68 Question Id : 68634019410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faeTfiF B, & g&A ofidig aroHE & fog vgad gersid o:
1. vac e ey dggat

e aey URSIeEay

3. Hae 14 ey wieRY

4. ARy BT

Options :

68634076669. 1
68634076670. 2
68634076671. 3
68634076672. 4

|

Question Number : 69 Question Id : 68634019411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Coombs test is used for

1. Detection of non-agglutinating antibodies

2

. Detection of agglutinating antibodies
3. Detection of blocking types antibodies

4. Detection of mycoplasmal pneumonia

Options :

68634076673. 1
68634076674. 2
68634076675. 3
68634076676. 4

Question Number : 69 Question Id : 68634019411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
prag T g ol wgad e e
1. TR-THg &I oiig
e vt @ it

o s, e

3. yidulld®| & 98 UBR B g

4, Ao FHHEIAT &t §id

Options :
68634076673. 1

| ]




68634076674. 2
68634076675. 3
68634076676. 4

Question Number : 70 Question Id : 68634019412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Agents used for control of immune system. based on pioneer concept of Elie Metchnikoff.

1. Lymphocyte serum

| ]

. Cytokine

Lad

. Antilymphoeyte serum

4. Vaccine

Options :

68634076677. 1
68634076678. 2
68634076679. 3
68634076680. 4

Question Number : 70 Question Id : 68634019412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl B 1P B AFTGRIA Yol U= SR FicRen Yo & o & [ wad e o
1. fermaEe Ok

RS EIER]

s rarge et WRm

4, AR

Options :

68634076677. 1
68634076678. 2
68634076679. 3
68634076680. 4

[ ]

L¥S]

Question Number : 71 Question Id : 68634019413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : The presence of molecular forces produces a tendancy for individual solid particles to stick to
each other and to other surface.

Reason R : Adhesion and cohesion can be considered as two aspects of particle aggregation.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is not false

4. A is not false but R is true

Options :

68634076681. 1
68634076682. 2
68634076683. 3
68634076684. 4

Question Number : 71 Question Id : 68634019413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9 T U fOU 70 & U SI@HYT (Assertion A) & ¥U 1 [AREd § df THR1 39d HRUT (Reazon R) T T
I

YUY A: g gai BI IufefT T afdTd 319 HUI § R Fue- 3R 9ag W ius & fau
Tgi 3 B g

BRI R: ST 3R IS B! SV JHA & &l g HH1 o Hobdl ol
SWRIgd BU & 3Tedie 1, i U 10 fadbedl ¥ I 94 Iugad 3R &1 90 DI

1.LAJRRIA IUE IR R A D T TR 8
 AJRREHA I E SRR, A DI Yel AR 6l &
AT BT R 3T

4. A3TT e AGTRITE

| ]

L]

Options :

68634076681. 1
68634076682. 2
68634076683. 3
68634076684. 4

Question Number : 72 Question Id : 68634019414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Give below are two statements ;: One 1s labelled as Assertion A and the other 1s labelled as Reason R:
Assertion A : Immunoelectrophoresis or RIA is the best method for the quantification of IgE.

Reason R : Ordinary electrophoresis does not identify the subgroups of immunoglobulins IgG. IgA. IgM. IgE.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| &

. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is not false

4. A is not false but R is true

Options :

68634076685. 1
68634076686. 2
68634076687. 3
68634076688. 4

Question Number : 72 Question Id : 68634019414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B U f4U TTU 6 U SIUHYUT (Assertion A) P $U T [AIREd § dl THRI 3Ud HRUT (Reason R) & Y
.

HTUBYT A: THAISAC BRI U7 HR3SU IgE B TUH] B3 o forg 4§ fafdr g |

BRI R: R SRRSO PRI 1gG, IgA. IgM. IgE SRIANGIET & SUHHE! & Ugd 7o) ®xdl ¢
SWRIad Y- & 3fTelle H, 14 f3u MU faw el & @ ged Iugdd SR &1 99+ Difeg:

1.ARRIF TUE IR R, A DI T AR
 ASRREA TIE IR R, A DI Je! AR T8l &

3.ATY EAPIR 3T T

| ]

4. ATT EABTRITE

Options :

68634076685. 1
68634076686. 2
68634076687. 3
68634076688. 4

Question Number : 73 Question Id : 68634019415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : The modified Noyes - Whitney equation states that larger the surface area of a drug, higher 15
the dissolution rate.

Reason R : the surface area increases with decreasing particle size.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is not false

4. A is not false but R is true

Options :

68634076689. 1
68634076690. 2
68634076691. 3
68634076692. 4

Question Number : 73 Question Id : 68634019415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9 T U fOU 70 & U SI@HYT (Assertion A) & ¥U 1 [AREd § df THR1 39d HRUT (Reazon R) T T
I

STUBYT A: TR A10Y fege=1 FHieRu HERd ol ¢ @ e sl IF &aa foramT st s
fages &r ot Il &1 S==ar gt

BRI R: DU SHR § Bl & 1Y UY &35 961 6|

SWRIEd BU & 3Telie H, i U T fadedl § 9 9ad Iuged 3R &1 99 DI
1. A SRR G I € SRR, A P! T TR 8

ASRREH I € SRR, A P! I U 81 &

ATT TAFAR AR

4. A3TT e AGTRITE

| ]

L]

Options :

68634076689. 1
68634076690. 2
68634076691. 3
68634076692. 4

Question Number : 74 Question Id : 68634019416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Haloperidol is a preferred drug for acute schizophrenia and Huntington's disease.

Reason R : Parenteral administration by intramuscular route 1s possible in acute cases

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 13 correct

Options :

68634076693. 1
68634076694. 2
68634076695. 3
68634076696. 4

Question Number : 74 Question Id : 68634019416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 B U f4U U 6 U SIUHYUT (Assertion A) P $U I [Tl © o THRI 39D HRUT (Reason R) & Y
.

HUBYA A: digar RisithY 3R gEh1e A7 & o greiiisia U adid v g |

SR R: Tdl 7AG 1 SIqoRig 9nf § Wed &9 9 3wy far o 9u9a g1

SWRIad Y- & 3fTelle H, 1< f3u MU faw el & @ 9ed Iuged SR &1 99+ DIfe:
1. A SRR &HI 9A § JR R A P! Tl ORAT &

A SRR EH I § SRR, A D! TSI IR 81 &

| ]

3. AT S AR 3T T

4. ATT ABTRITS

Options :

68634076693. 1
68634076694. 2
68634076695. 3
68634076696. 4

Question Number : 75 Question Id : 68634019417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Oral anti-diabetic Agents)| (Mechanism of Action)
A | Voglibose I. | AMP Actrvator
B. | Metformin 1T | K Channel blockers
C. | Tolbutamide 11| o-glucosidase Inhibitor
i | Biackissada | PRy (paminia)
activators

Choose the correct answer from the options given below:

1. A-IIIL. B-II. C-1. D-IV

| ]

AL B-IL C-IV, D-I
3. A-IIL. B-1. C-II. D-IV
4, A-II1. B-IV. C-1. D-II

Options :

68634076697. 1
68634076698. 2
68634076699. 3
68634076700. 4

Question Number : 75 Question Id : 68634019417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hal 11 gl 11 9 e Siforg

T 1 I
Hifes aydE At sfieds 3t fafr
A [arTe | g L | vuHdl gy sl
B. [HewmifA 11 | & Arl siRig®
C. [ermgeHEs 1L | o TIPS HRNYP
D. [[3TeeH V. | fde3R-y Sfsadadl

afciad [deegi § O Ug 31 &1 99 Bl

1. A-IIIL. B-II. C-1. D-IV

[ ]

AL B-IL C-IV, D-I
3. A-IL B-1. C-II, D-IV

4, A-IIL, B-IV. C-I, D-II

Options :

68634076697. 1
68634076698. 2
68634076699. 3
68634076700. 4



Question Number : 76 Question Id : 68634019418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIO
(Antimicrobial Agent) (Systemic toxicity)
A | Aminoglveosides I Heaning Los, kduey

" |damage
Neurological and renal

B. | Tetracyelines II. NN
1OX1CLTY

C. | Vancomycin III. STh cra_.nml_n-_er'\_.'e and
kidney toxicity

D. |Poliuyzin B v Liver and kidnev damage,

anti anabolic effect

Choose the correct answer from the options given below:

1. A-1. B-IIL. C-IV, D-II

[ )

AL B-TIV, C-I1. D-1
3. A-IV. B-I1. C-I11. D-I

4. A-III, B-IV. C-I, D-II

Options :

68634076701. 1
68634076702. 2
68634076703. 3
68634076704. 4

Question Number : 76 Question Id : 68634019418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1 1 gl 11 ¥ e Sifere

11
A 314—||r|14c1|5m|aaad¢q 1 |eraur griH. fb et &
B [CeEEEa 11 [T 3R 9o [quiaddl
C. [demmiE 111 g df -0 dd 3R fha-1 faumad
D. [arcEEiET 1V, [efiaR 3R s aifd, T Traiicies T

Fafciad fdeedi § U Ul 3T &1 994 DI ;

1. A-1. B-III. C-IV. D-II

[ ]

CA-IIL B-IV, C-I1, D-I
3. A-IV, B-II, C-I1II, D-I

4. A-IIL, B-IV. C-I, D-II

Options :

68634076701. 1
68634076702. 2
68634076703. 3
68634076704. 4

Question Number : 77 Question Id : 68634019419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a unique boron containing drug which acts as a proteasome inhibitor in anti cancer
therapeutics.

1. Trastuzumab

|

. Bortezomib
3. Sorafenib

4, Rituximab

Options :

68634076705. 1
68634076706. 2
68634076707. 3
68634076708. 4

Question Number : 77 Question Id : 68634019419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frgfelRaa & 9 fafdy IR siqde aret iwsh &9 <t & ol SR SuaR! § dife sy saiive &

=0 H & Bl g
1. TRCTHIG

 SRCI

3. GRIhiE

4, Readimg

=

| ]

Options :

68634076705. 1
68634076706. 2
68634076707. 3
68634076708. 4

Question Number : 78 Question Id : 68634019420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following anti-malarial drug is contraindicated during pregnancy.

1. Chloroquine

2

. Proguanil

(]

. Primaquine
4. Mefloquine
Options :
68634076709. 1
68634076710. 2

68634076711. 3
68634076712. 4

Question Number : 78 Question Id : 68634019420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad 0 9 oF 9 gaRard sived muian & SR sy HERi 8
1. AR

AT

3. fomregATEA

4. HURITRIATE

Options :

| ]



68634076709. 1
68634076710. 2
68634076711. 3
68634076712. 4

Question Number : 79 Question Id : 68634019421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following anti-depressant is a selective serotonin reuptake inhibitor (SSRls)

1. Trazodone

| ]

. Venlafaxine
3. Fluoxetine

4. Imipramine

Options :

68634076713. 1
68634076714. 2
68634076715. 3
68634076716. 4

Question Number : 79 Question Id : 68634019421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afciEaa O O ot 4l srawng el vy us 9g-1as RRICH Ryues saidl (TaudsRa) 8
3 e

-~

e ERIEICaE]
R GEliCatic)
4. gHIIHE

Options :

68634076713. 1
68634076714. 2
68634076715. 3
68634076716. 4

[ ]

Lad

Question Number : 80 Question Id : 68634019422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oral anti-diabetic metformin is a

1. Phenylalanine analogue

| B

. Biguanide

Lad

. Sulfonylurea

4. Thiazolidinedione

Options :

68634076717. 1
68634076718. 2
68634076719. 3
68634076720. 4

Question Number : 80 Question Id : 68634019422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JHSTHR AYHE-IH HehIH— UF &:
1. T dUaEEA TGN
femamorgs
3. e HEalT
4. fafaifersIgre s
Options :
68634076717. 1
68634076718. 2

68634076719. 3
68634076720. 4

-J

Question Number : 81 Question Id : 68634019423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prazosin 1s used for treatment of

fa—y

. Hypertension

2. Schizophrenia

Lad

. Depression

4. Glaucoma

Options :

68634076721. 1
68634076722. 2
68634076723. 3



68634076724. 4

Question Number : 81 Question Id : 68634019423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR R STaR 3 R waad e &
1. 3= {gddly
2. Ryeighfan
3. 3adiq

4. T[S

Options :

68634076721. 1
68634076722. 2
68634076723. 3
68634076724. 4

Question Number : 82 Question Id : 68634019424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the incorrect statement regarding Tricyclic Antidepressants (TCAs)
1. TCAs having ability to inhibit norepinephrine transporter and serotonin transporter.
2. The TCAs lower seizure threshold and produce convulsions in overdose
3. Most TCAs are anticholinergic suppressor

4. TCAs potentiate directly acting sympathomimetic amines

Options :

68634076725. 1
68634076726. 2
68634076727. 3
68634076728. 4

Question Number : 82 Question Id : 68634019424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 3edTe Ayl (TTHI0) & IR T 38T HYF BT 94 DY
1. ARUEwTET uRadaadl AR RRicT aRaga®dl &1 2@l S5 &1 grgar ard e
2, TTHIT ST U1 H S § 3R 3186 TP 1§ UsT s Hd 5|

3. Hf¥emier i tdisifemivie gEHd] (WHER) §
4. F yae Hrdare! ard e s s & GUe aRd € |

Options :

68634076725. 1
68634076726. 2
68634076727. 3
68634076728. 4

Question Number : 83 Question Id : 68634019425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All the following cardiovascular drugs are phosphodiesterase 3-inhibitors except.

1. Inamrinone

| )

. Milrinone
3. Levosimendan

4. Metoprolol

Options :

68634076729. 1
68634076730. 2
68634076731. 3
68634076732. 4

Question Number : 83 Question Id : 68634019425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeRad § 9 ue & sramar 9t geyaH! siufem BrRpsETeyy 3-3ai e
1. 9HEAH

RERIECIE]

3. AAIRETSH

4. BT

Options :
68634076729. 1
68634076730. 2

| ]



68634076731. 3
68634076732. 4

Question Number : 84 Question Id : 68634019426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which for the following sentence is incorrect for Demulcents :

1. They are inert substances which sooth inflamed mucosa.

| ]

. They protect skin / mucosa from irritants / air in the surroundings
3. Glycyrrhiza is used as demulcents

4. They simulate sensory nerve ending and induce inflammation at the site of application.

Options :

68634076733. 1
68634076734. 2
68634076735. 3
68634076736. 4

Question Number : 84 Question Id : 68634019426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTse ¥ fou Fafafea 3 3 S sy s e

. siad yard § ol il g5 H@ 91 &I I6d &d ¢ |

./ F N Bl e § geidll SRS/ ag SS9 g 1

3. TAHG G 1 YRl SHAde & =9 § gl 8|

4. d Hadt I fag il &1 Iufed $d © aUT G oF B 9ig W saa-Riedl Sdd $d g |

Options :

68634076733. 1
68634076734. 2
68634076735. 3
68634076736. 4

-

| )

Question Number : 85 Question Id : 68634019427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the appropriate order of the following phases of cell eycle in humans

A. G1 phase
B. G2 phase
C. M phase
D. S phase

Choose the correct answer from the options given below :

1. A-B—C—D

[ )

. C—=D—A—B
3. A—-D—-B—=C

4. B—A—-C—=D

Options :

68634076737. 1
68634076738. 2
68634076739. 3
68634076740. 4

Question Number : 85 Question Id : 68634019427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g § SIS 9% & 901 &l Hafaiad 8 9el pH P A el

A. G100
B. G2 4
C. MR
D. S =07

2 fgu U faweat & © Ol IR &1 99 Sifeg

1. A—-B—C—D

| ]

. C—=D—A—-B
3. A—-D—B-C

4. B—A—-C—=D

Options :

68634076737. 1
68634076738. 2
68634076739. 3
68634076740. 4

Question Number : 86 Question Id : 68634019428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Antiretrovirus Drugs) {Mechanism of Action)
A | Lamivudine 1. | Integrase inhibitors
Efavirenz II. | Protease inhibitors
i 1L ?\ucleo_s“ide reverse
transcriptase inhibitors
S v Non-nucleoside reverse

transcriptase inhibitors,

Choose the correct answer from the options given below:

1. A-1. B-1I. C-IV. D-III

|

AL B-IV. C-II1, D-1
3. A-IL B-IV. C-1II, D-1I

4. A-1. B-I1, C-IIL. D-IV

Options :

68634076741. 1
68634076742. 2
68634076743. 3
68634076744. 4

Question Number : 86 Question Id : 68634019428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 gl 11 9 e ifere

I 1I
e s i
A [qHIgSEA 1 [BER ayd
ERAIEER 1L [JIfCUd Ay

RIge IR 1L [iaasS (e SR8 HRIuD
R IV 'R =fdcaaiargs [daM 3FfaRad a1y

e [deedi § O 9l 3T &1 944 DI

1. A-1. B-II. C-IV. D-III

ol|o|w|s

[ ]

CA-ITL B-TIV. C-IIT, D-I
3. A-IIT, B-IV. C-1I1. D-I

4. A-1, B-II. C-IIL, D-IV

Options :

68634076741. 1
68634076742. 2
68634076743. 3



68634076744. 4

Question Number : 87 Question Id : 68634019429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following drugs lower the interocular pressure

A. Pilocarpme
B. Latanoprost
C. Atropine

D. Tiotroprum

Choose the correct answer from the options given below :

1.A+B

| )

A+C
3.B+D

4 B+C

Options :

68634076745. 1
68634076746. 2
68634076747. 3
68634076748. 4

Question Number : 87 Question Id : 68634019429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafRad Siufiml Scipar a/d &0 Sl o

A. fodierda
B. TeHmRE

C. UcidiH

D. feaigifoes

-2 fou T fowedl & < U8l SR @1 904 S

1.A+B

[ ]

VA+C
3.B+D

4. B+C

Options :

68634076745. 1
68634076746. 2
68634076747. 3



68634076748. 4

Question Number : 88 Question Id : 68634019430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the Drugs and Cosmetics act and rules the good manufacturing practice is included under schedule
1.G
2. P
3. W

4. M

Options :

68634076749. 1
68634076750. 2
68634076751. 3
68634076752. 4

Question Number : 88 Question Id : 68634019430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT 3R TR U SR el & SR axq o vt e srgEt § wnfia §

1.G

-

AP
W
4 M

Options :

68634076749. 1
68634076750. 2
68634076751. 3
68634076752. 4

Question Number : 89 Question Id : 68634019431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Carbidopa 15 careful in the treatment of Parkinsons disease because it is

1. a precursor of L-dopa

| B

. Presents the breakdown of dopamine

3. Promotes the increased t1/2 of L-dopa in the periphery and increases it's concertation available for
crossing blood brain barrier

4. Increases involuntary movement in the combination with benserazide.

Options :

68634076753. 1
68634076754. 2
68634076755. 3
68634076756. 4

Question Number : 89 Question Id : 68634019431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIfesIr uf$a-g I S IrER § uarh § wife ug &

1. UT-S 191 &1 gaat
2. SIS & fadsT 1 ASYUH H3dl &

3.¥ﬂﬂua§°faﬂﬁqa-ﬁmﬁ 1/2 FETd & aYT Jad BETsH 18T UR &34 & [0 S9! Iigdl Suasd
EEGIE

4. FOIPIOSS & WY T | SRdfws® Sa1a serdi o

Options :

68634076753. 1
68634076754. 2
68634076755. 3
68634076756. 4

Question Number : 90 Question Id : 68634019432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following combination shows antagonism ?

1. Penicillin + streptomyein

[ E]

. Amlodipine + Rifampicin
3. Imatinib + ciprofloxacin

4, Nitrofurantoin + nalidixic acid

Options :



68634076757. 1
68634076758. 2
68634076759. 3
68634076760. 4

Question Number : 90 Question Id : 68634019432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Fafcied o O S H-91 9Uie giagadl g g°

4. ECIHRI + it 3

Options :

68634076757. 1
68634076758. 2
68634076759. 3
68634076760. 4

Question Number : 91 Question Id : 68634019433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement I : Totipotency is found in Plant tissues m the leaf primordia, root tip and lateral buds.
Statement IT : Meristematic tissues have totipotency.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634076761. 1
68634076762. 2
68634076763. 3
68634076764. 4

Question Number : 91 Question Id : 68634019433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fE APyl
®YA I: clicurc sl uol aifSan, ga fRRT 3R S1iie Siemis I ey 39! 4 g ol |
®YF II: IRTeHfes FHae! & afeartd gidt g
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Options :

68634076761. 1
68634076762. 2
68634076763. 3
68634076764. 4

[ ]

Question Number : 92 Question Id : 68634019434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the Biological Source for Digoxin ?

1. Digitalis purpurea

-2

. Digitalis lanata

(]

. Digitalis vulgaris
4. Digitalis Officinalis

Options :

68634076765. 1
68634076766. 2
68634076767. 3
68634076768. 4

Question Number : 92 Question Id : 68634019434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad d 9 o1H-91 Sigiifay @1 siifad Hid &:

%
:

[ ]
oy
4
y
~l
“H
&
=
o
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Options :

68634076765. 1
68634076766. 2
68634076767. 3
68634076768. 4

Question Number : 93 Question Id : 68634019435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lycopodium spore methods help to determine the of given drug samples.

1. Efficacy

b

. Adulterants

L]

. Purity
4, Microbial load

Options :

68634076769. 1
68634076770. 2
68634076771. 3
68634076772. 4

Question Number : 93 Question Id : 68634019435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cgIuITSad TR faf waw sl 3 o 1 [eR01 B H 2yl Bl 5 |
1. gHIfd D

foretmae

3. el

. g&Hoiifau YR

Options :
68634076769. 1
68634076770. 2

[ ]

e



68634076771. 3
68634076772. 4

Question Number : 94 Question Id : 68634019436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
Triterpenoid Saponin
i L Glycoside
B. |Digitalis II. [Steroidal saponin Glycosides
C. [Liquorice III. |Anthraquinone Glvcosides
D. |Discorea IV |Cardiac Glycosides

Choose the correct answer from the options given below:

1. A-1. B-IV. C-II. D-III

[ )

. A-L. B-IL. C-IIL. D-IV
3. A-IL. B-IV. C-1. D-II

4. A-IV, B-I11. C-II, D-I

Options :

68634076773. 1
68634076774. 2
68634076775. 3
68634076776. 4

Question Number : 94 Question Id : 68634019436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 ga 11 ¥ e S
gl 1 T 1
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1. A-1. B-IV. C-II. D-III

o|o|w|

| ]

. A-I, B-II, C-III, D-IV
3. A-IIL B-TIV, C-1. D-II

4. A-IV, B-I11. C-II. D-I

Options :



68634076773. 1
68634076774. 2
68634076775. 3
68634076776. 4

Question Number : 95 Question Id : 68634019437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shikimic acid 1s the precursor of the following secondary metabolites

A. Aromatic amino acids
B. Terpenoids

C. Lignins

D. Lipids

Choose the most appropriate answer from the options given below :

1. A, B Only

| )

A, C Only
3.B.D Ouly
4. D, C Only
Options :
68634076777. 1
68634076778. 2

68634076779. 3
68634076780. 4

Question Number : 95 Question Id : 68634019437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RifTies e Fafafas o Fam=ges! o1 dad 6:
A, WAfeH AT 3
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c. e+
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Options :

68634076777. 1
68634076778. 2
68634076779. 3
68634076780. 4

Question Number : 96 Question Id : 68634019438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : True alkaloids are those alkaloids that are derived from amino acids and have nitrogen m the
heterocyclic ring

Statement II : Caffeine is a True alkaloid.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634076781. 1
68634076782. 2
68634076783. 3
68634076784. 4

Question Number : 96 Question Id : 68634019438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRdFwERLE
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Options :
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68634076781. 1
68634076782. 2
68634076783. 3
68634076784. 4

Question Number : 97 Question Id : 68634019439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : Aloe glycosides give negative Born Tragger's Test but positive modified Borntragger's Test.
Reason R : Aloe contains C-Glycosides

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

|

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct

4. A 1z not correct but R is correct

Options :

68634076785. 1
68634076786. 2
68634076787. 3
68634076788. 4

Question Number : 97 Question Id : 68634019439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634076785. 1
68634076786. 2
68634076787. 3
68634076788. 4

Question Number : 98 Question Id : 68634019440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement I : Aromatase Inhibitors include both steroidal and non steroidal compounds.

Statement II : Tamoxifen. Estrone. Testolactone and Nor-ethindrone are the examples of Aromatase
Inhibitors

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| B

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I1 is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

68634076789. 1
68634076790. 2
68634076791. 3
68634076792. 4

Question Number : 98 Question Id : 68634019440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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4. A3 SUMPTRTAS

Options :



68634076789. 1
68634076790. 2
68634076791. 3
68634076792. 4

Question Number : 99 Question Id : 68634019441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which waves is not present in electrocardiogram ?

1. P wave
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. QRS Wave
3. T Wave

4, TJ Wave
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Vitamin important for final maturation of the red blood cells

1. Vitamin C
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. Vitamin B,

[F%]

. Pyridoxine

4, Vitamin A
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